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Name: __________________________________



1
What is the minimum value of [image: image1.png]


 in the equation [image: image2.png]


?

	1)
	[image: image3.png]




	2)
	[image: image4.png]




	3)
	[image: image5.png]




	4)
	[image: image6.png]






2
The maximum value of the function [image: image7.png]3sinlx




 is

	1)
	[image: image8.png]




	2)
	2

	3)
	3

	4)
	[image: image9.png]2







3
What is the maximum value for the function [image: image10.png]


 is:

	1)
	[image: image11.png]




	2)
	[image: image12.png]




	3)
	[image: image13.png]




	4)
	[image: image14.png]






4
What is the maximum value of y for the equation [image: image15.png]1+ 3sinx




?

	1)
	1

	2)
	2

	3)
	3

	4)
	4



5
If [image: image16.png]sin3x+ O




, then the maximum value of [image: image17.png]


 is:

	1)
	[image: image18.png]




	2)
	[image: image19.png]'+ 2





	3)
	[image: image20.png]'+ 3





	4)
	[image: image21.png]'+ 6







6
The path traveled by a roller coaster is modeled by the equation [image: image22.png]27smn13x+ 30




.  What is the maximum altitude of the roller coaster?

	1)
	13

	2)
	27

	3)
	30

	4)
	57



7
What is the range of the function [image: image23.png]y=4cosx



?

	1)
	[image: image24.png]




	2)
	[image: image25.png]




	3)
	[image: image26.png]




	4)
	[image: image27.png]






8
What is the range of the function [image: image28.png]2cos3x




?

	1)
	[image: image29.png]




	2)
	[image: image30.png]




	3)
	[image: image31.png]




	4)
	[image: image32.png]






9
What is the range of the function [image: image33.png]2sin3x




?

	1)
	all real numbers

	2)
	[image: image34.png]




	3)
	[image: image35.png]




	4)
	[image: image36.png]






10
Which is not in the range of the function [image: image37.png]Y= COSX



?

	1)
	1

	2)
	2

	3)
	[image: image38.png]




	4)
	[image: image39.png]






11
Which number is not an element of the range of [image: image40.png]


?

	1)
	1

	2)
	2

	3)
	[image: image41.png]




	4)
	0



12
Which transformation could be used to make the graph of the equation [image: image42.png]


 coincide with the graph of the equation [image: image43.png]Y= COSX



?

	1)
	translation

	2)
	rotation

	3)
	dilation

	4)
	point reflection



13
Which type of symmetry does the equation [image: image44.png]Y= COSX



 have?

	1)
	line symmetry with respect to the x-axis

	2)
	line symmetry with respect to [image: image45.png]




	3)
	point symmetry with respect to the origin

	4)
	point symmetry with respect to [image: image46.png]






14
As angle x increases from 180º to 270º, the value of [image: image47.png]COSX



 will

	1)
	increase from 0 to 1

	2)
	increase from [image: image48.png]


 to 0

	3)
	decrease from 0 to [image: image49.png]




	4)
	decrease from 1 to 0



15
As angle [image: image50.png]


 increases from [image: image51.png]


 radians to [image: image52.png]2



 radians, the cosine of [image: image53.png]



	1)
	increases throughout the interval

	2)
	decreases throughout the interval

	3)
	increases, then decreases

	4)
	decreases, then increases



16
As [image: image54.png]


 increases from [image: image55.png]ESIEY



 to [image: image56.png]in



,  the value of [image: image57.png]cos &




	1)
	decreases, only

	2)
	increases, only

	3)
	decreases and then increases

	4)
	increases and then decreases



17
As angle x increases from [image: image58.png]ESIEY



 to [image: image59.png]


, the value of [image: image60.png]


 will

	1)
	increase from [image: image61.png]


 to 0

	2)
	increase from 0 to 1

	3)
	decrease from 0 to [image: image62.png]




	4)
	decrease from 1 to 0



18
As x increases from [image: image63.png]


 to [image: image64.png]2



, the value of [image: image65.png]



	1)
	increases, only

	2)
	decreases, only

	3)
	increases, then decreases

	4)
	decreases, then increases



19
As [image: image66.png]


 increases from [image: image67.png]


 to [image: image68.png]in



, which statement is true?

	1)
	[image: image69.png]Sin &



 increases from [image: image70.png]


 to 0.

	2)
	[image: image71.png]Sin &



 decreases from 1 to 0.

	3)
	[image: image72.png]Cosé



 decreases from 0 to [image: image73.png]


.

	4)
	[image: image74.png]Cosé



 increases from [image: image75.png]


 to 0.



20
The graph of the equation [image: image76.png]y = |sinz]|



 will contain no points in Quadrants

	1)
	I and II

	2)
	II and III

	3)
	III and IV

	4)
	I and IV
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The maximum of a sine wave is 1.  [image: image77.png]2N+ C=C+2
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The maximum of a sine wave is 1.  [image: image78.png]
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